
Theorm Assignment                   Indicate the required angle and appropriate theorem
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b = _____(          )
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1. a = ____ (          )
b = ____ (          )  
c = ____ (          ) 
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0
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x = ____ (          )
2x ­ 10 = ____  
x + 15 = ____  

3. a = ____ (          )
b = ____ (          )  a

b
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x = _____ (          )
3x + 10 = _____
x + 40 = ______

5. a0

b0 c0

d0480 750

a = ____ (          )
b = ____ (          )  
c = ____ (          ) 
d = ____ (          ) 

6.
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a = ____(          )
b = ____(          )  
c = ____(          ) 
d = ____(          ) 

7.
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a = ____(          )
b = ____(          )  
c = ____(          ) 
d = ____(          ) 

8. a = ____ (          )
b = ____ (          )  
c = ____ (          ) 
d = ____ (          ) 
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300
a0b0

c0

d0

Name  ___________________
Work must be shown for algebra questions.

Date ___________


	Page 1

